EARAZROREIERT — 2 N—XBISY —F 20185128238 (H) 5MIpR#8H

el b SR 2 KRR BT Eih ‘[fﬂi] s ‘[%iﬂ%lﬂsﬁl] — | & (%) 1800n F4E
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
B ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 5| RRE—T1H— #o2 | EEE 1:(&2).1 5-4-3-2 |37.0| — | 2 | 486 ggié (FR)
R:Vv A& A Biesy—HFLSA (-6) =lgtis
5 gl ¥LIT 71 b 42 sigf)%ﬂ\ (13511/27) 13-12-8-6 | 37.2| — 3 422;1 ?ﬁifﬁ (ER)
L:Z2ZXHT71=v IR B:XZXHT70-F [QLR<0F e
317110 F—F—RK T o2 g’éfﬁt’)ﬁl% 1(:35/14.)8 8-9-6-4 |37.5| — 1 <4+524) Tﬁ%:ifi'fi; (E®H)
R:xAL1ZGr7—R B:U—FIAT)— YA 785
40111 |FFE=F "2 ;nz_ﬂgik 1(:15/12.)9 4434 (379 — | 5 :fzz) ﬁzggﬁ (ER)
R:F4—TTUTLF BUXFULET FrlEF X Ty —L
5 o | NAFUT— o2 %E‘é% (11:532/.5 2-2-2-2 [38.3| — 8 30) Egéi %@k;g
RW—5—=29 T B:TVRI ¥~ =g &
6lglio| by 7F>F 1z b H o2 %ﬁf‘ﬁ 1:(553).1 1-1-1-1 [39.4| — 4 510 *ﬁ%ﬁ;é E=)
LT r—IUTE BFLALNA S 2 5 o 25y
7 gl A1 79 H o2 Jsléf%o@: 1:{3{;@).4 6-6-5-6 | 40.1| — 7 (5_023) ;—:*ﬁ% (ER)
STANNTTFH— BALI TNERR =]
glsl7| AL % 2 | EBRR 1(/&\3;;1 10-9-9-9 [39.5| — | 6 | 442 ré?(gé‘i/(%f)t»x
L:A-Fp#7O7 B:1-RF1717 (#2) #REH /—-ZELX
9 9| %A ZILYHZ 4 2 ?g#ﬁk 1:(555).2 10-9-6-8 [ 40.6 | — 10 | 500 ﬁﬁ?ﬁa;?f)/ T g
RhYIRFAYT BREFTUAEY D ek gl
10lsl 6| 27ENRTT Ho2 ;’%ﬁi 1(;15/52.>3 6-6-9-10 [40.2| — | 13 | 458 g@*{ﬁ:’éﬁﬁ%)
Lkt Ta—Fr BRT—hIvY O | g
. . . . Bia : -13-13- - BB
bzl 857 7uH— kK o2 2@514% (zia% 12-13-13-13| 40.8 11 :;6) %;ga% €39
ZoNd BiARVERLy & BREH#E S/ 77— L4
121813 Fror T v H o2 ?Eé’%ﬂ (27(3{0;)) 8-6-12-11 |43.7| — | 12 | 440 ;gfgséi (&%)
R:hT/ R4 B:ayhvI T #2) HBITr—L
13 3|7V /o3 g 4 2 g’éuééﬂi (23010/26) 2-2-11-12 | 44.4 | — 9 (5250) ;Qéﬁ(%i)
R:IAY>T75yva BiEYv—ANTX hid  HEBR
@ 71 L
) 49.9-37.4
NO>24 L | 12.6-11.0-12.6-12.5-12.5-12.5-12.4-12.4-12.6
® I —F—@EBIERL
13=7r= (x12,2,3)1,5(6,4) (10,13) (7,9)11,8
20—+ — 12(2,3) (1,5)-(6,4,13) (7,9,10)-8-11
30—7+— 12,2(1,5)4(9,10)8(6,7)-3-13=11
43— — (x12,2,5) (1,10) (8,4)-9,7-6=13,3-11
[ RN
B OB 5 370M 714K 5-8 430M % E 4-6 1,250 &R 5-8-10 760M
7 B 5 140 5-10 180 | | /& = 5-8 1,470/ | | 3=E 5-8-10 5,440M
8 140 8-10 260 B H 5-8 2,180M
10 110

ABICOVWTRDTEEERROODE. TR LIV,



